SECTION ILLUSTRATED PARTS LIST
12 13 14
15 16 17 18
"o
10\ =
9\ e
\\ ‘ l 19
8\\ ™ T
7
~L_li
@ / =
@ =11 -
] a =
5 @ 35 = 24
y T2
1 ——26
‘ | | | g
- )
28
34 29
1,23,b ,
' 3 36
30

K}

FIG 6 TOP HEAD CHIPBREAKER, PRESSURE PAD AND EXTRACTION HOOD




[ILLUSTRATED PARTS LIST SECTION

6. TOP HEAD CHIPBREAKER, PRESSURE PAD AND EXTRACTION HOOD

Ref. No. Description No. Off

Tee-nut, M10, ref. WDS 664 203

Screwed stud, M10 x 45mm long

Washer 10mm, bright mild steel

Hexagon nut, M10

Hexagon socket screws, half dog point, M6 x 35mm long
Hexagon nut, M6

Gib strip, rise and fall bracket, Top Head pressure pad
Slide, rise and fall, for shoe Top Head pressure pad
Bracket, rise and fall, Top Head pressure

Screw, raise/lower, Top head pressure pad
Compression spring, Top Head pressure pad

Top plate, Top Head pressure pad

Hexagon socket screw, M8 x 20mm long
Handwheel, M12 blind hole

Taper pin. No.0

Hexagon nut, thin, M12

Washer, 12mm, bright mild steel

Exhaust hood, Top Head

Hexagon head screw, M12 x 40mm long

Plug, spring loaded Top Head chipbreaker

Cap, Top Head chipbreaker spring

Spring, Top head chipbreaker

Washer, 10mm, bright mild steel

Hexagon nut, M10

Screwed stud, M10 x 50mm long

DI R 12 2 0 s
BWON=ROOURNTN R WN R GO0 U W N =

26 Pivot bracket, Top Head chipbreaker

27 Plunger, spring loaded Top Head chipbreaker
28 Pivot shaft, Top Head chipbreaker

29 Parallel key, 8mm x 6mm x 32mm long

30 Holder, Top Head chipbreaker shoe

31 Washer, chipbreaker pivot shaft

32 Nut, M12, self locking

33 Shoe, Top Head, 70mm long

Shoe, Top Head, 82mm long

Shoe, Top head, 105mm long
34 Chip deflector, Top Head chipbreaker
35 Cross tenon for shoe, top head pressure
36 Shoe, Top Head pressure
37 Cover, Top Head pressure pad

P e e b e ek b et b bk b e b N N N e e e e ek e DD g et N et e et e ek bt DWW NN




